POLICY OVERVIEW ADDED. APR 09, 2019 ENDED. JUN 15, 2019

How satisfied are you with the city of Rochester government?

CURRENT RESU	CURRENT RESULTS			
Α	Very satisfied (25)		7% (25)	
В	Satisfied (122)		32% (122)	
С	Neither satisfied nor dissatisfied (119)		31% (119)	
D	Dissatisfied (92)		24% (92)	
E	Very dissatisfied (20)		5% (20)	

REGISTERED VS NON-REGISTERED

	A	В	С	D	E
Registered Voters (274)	7.7% (21)	32.5% (89)	29.6% (81)	25.9% (71)	4.4% (12)
Non-Registered Voters (104)	3.8% (4)	31.7% (33)	36.5% (38)	20.2% (21)	7.7% (8)

ALL RESPONDENTS

	A	В	С	D	E
All respondents (378)	7.0% (25)	32.0% (122)	31.0% (119)	24.0% (92)	5.0% (20)
Registered Voters in Rochester, MN (274)	7.7% (21)	32.5% (89)	29.6% (81)	25.9% (71)	4.4% (12)
Live in Rochester, MN (365) - Self-reported	6.3% (23)	32.6% (119)	31.2% (114)	24.7% (90)	5.2% (19)
Subscribers to Rochester, MN (367)	6.5% (24)	32.7% (120)	31.1% (114)	24.5% (90)	5.2% (19)
Register respondents from anywhere (280)	8.0% (22)	32.0% (90)	29.0% (82)	26.0% (73)	5.0% (13)

POLICY OVERVIEW ADDED. APR 09, 2019 ENDED. JUN 15, 2019

How satisfied are you with the city of Rochester government?

A Very satisfied	B Satisfied	C Neither satisfied nor dissatisfied	D Dissatisfied E	Very dissatisfied		
PRECINCT						280 REIGSTERED VOTERS
		A	В	C	D	E
CASCADE TWP F	P-1 (4)	-	100.0% (4)		-	-
CASCADE TWP F		_	-	50.0% (1)	50.0% (1)	_
EDEN PRAIRIE P		-	-	-	100.0% (1)	-
HAVERHILL TWP		-	-	-	100.0% (1)	-
HIGH FOREST TV		-	-	-	100.0% (1)	-
MARION TWP P-		-	40.0% (2)	40.0% (2)	-	20.0% (1)
ORONOCO TWP		-	33.3% (1)	33.3% (1)	33.3% (1)	-
RED WING W-2 P		-	-	100.0% (1)	-	-
ROCHESTER TW		-	-	100.0% (2)	-	-
ROCHESTER W1		12.5% (1)	12.5% (1)	50.0% (4)	25.0% (2)	-
ROCHESTER W1		-	50.0% (1)	-	-	50.0% (1)
ROCHESTER W1	P05 (7)	28.6% (2)	14.3% (1)	28.6% (2)	28.6% (2)	-
ROCHESTER W1		-	50.0% (1)	50.0% (1)	-	-
ROCHESTER W1	P07 (6)	-	50.0% (3)	16.7% (1)	33.3% (2)	-
ROCHESTER W1	, ,	-	50.0% (1)	50.0% (1)	-	-
ROCHESTER W1	P09 (1)	-	-	100.0% (1)	-	-
ROCHESTER W1	P10 (1)	-	-	-	-	100.0% (1)
ROCHESTER W1	P11 (1)	-	-	-	100.0% (1)	-
ROCHESTER W1	P12 (2)	-	-	-	100.0% (2)	-
ROCHESTER W2	P01 (7)	14.3% (1)	71.4% (5)	-	-	14.3% (1)
ROCHESTER W2	P02 (13)	7.7% (1)	53.8% (7)	23.1% (3)	15.4% (2)	-
ROCHESTER W2	P03 (7)	-	28.6% (2)	42.9% (3)	28.6% (2)	-
ROCHESTER W2	P04 (8)	12.5% (1)	37.5% (3)	-	37.5% (3)	12.5% (1)
ROCHESTER W2	P05 (1)	-	-	100.0% (1)	-	-
ROCHESTER W2	P06 (4)	-	50.0% (2)	-	50.0% (2)	-
ROCHESTER W2	P07 (5)	-	60.0% (3)	20.0% (1)	20.0% (1)	-
ROCHESTER W2	P08 (10)	-	50.0% (5)	30.0% (3)	-	20.0% (2)
ROCHESTER W3	P01 (5)	20.0% (1)	-	40.0% (2)	40.0% (2)	-
ROCHESTER W3	P02 (6)	-	50.0% (3)	33.3% (2)	16.7% (1)	-
ROCHESTER W3	P03 (2)	-	50.0% (1)	-	50.0% (1)	-
ROCHESTER W3	P04 (1)	-	-	-	100.0% (1)	-
ROCHESTER W3	P05 (6)	33.3% (2)	33.3% (2)	-	16.7% (1)	16.7% (1)
ROCHESTER W3	P06 (3)	33.3% (1)	33.3% (1)	-	33.3% (1)	-
ROCHESTER W3	P07 (5)	20.0% (1)	20.0% (1)	40.0% (2)	20.0% (1)	-
ROCHESTER W4	P01 (7)	14.3% (1)	42.9% (3)	14.3% (1)	28.6% (2)	-
ROCHESTER W4	P02 (1)	-	100.0% (1)	-	-	-
ROCHESTER W4	P03 (9)	-	44.4% (4)	44.4% (4)	11.1% (1)	-
ROCHESTER W4	P04 (6)	-	33.3% (2)	50.0% (3)	16.7% (1)	-
ROCHESTER W4	P05 (6)	-	33.3% (2)	50.0% (3)	16.7% (1)	-
ROCHESTER W4	P06 (1)	-	-	100.0% (1)	-	-
ROCHESTER W4	P07 (3)	-	33.3% (1)	33.3% (1)	33.3% (1)	-
ROCHESTER W4	P08 (3)	-	33.3% (1)	33.3% (1)	33.3% (1)	-
ROCHESTER W5	P01 (11)	18.2% (2)	18.2% (2)	36.4% (4)	18.2% (2)	9.1% (1)
ROCHESTER W5	P02 (2)	-	50.0% (1)	-	50.0% (1)	-
ROCHESTER W5	P03 (14)	14.3% (2)	14.3% (2)	28.6% (4)	42.9% (6)	-
ROCHESTER W5	P04 (17)	11.8% (2)	17.6% (3)	35.3% (6)	35.3% (6)	-
ROCHESTER W5	P05 (9)	-	44.4% (4)	22.2% (2)	33.3% (3)	-
ROCHESTER W5	P06 (2)	-	-	-	100.0% (2)	-
ROCHESTER W5	P07 (5)	-	20.0% (1)	20.0% (1)	60.0% (3)	-
ROCHESTER W5	P08 (3)	-	-	66.7% (2)	-	33.3% (1)
ROCHESTER W6	P01 (7)	14.3% (1)	42.9% (3)	14.3% (1)	28.6% (2)	-

ROCHESTER W6 P02 (7)	-	-	57.1% (4)	28.6% (2)	14.3% (1)
ROCHESTER W6 P03 (6)	-	50.0% (3)	33.3% (2)	16.7% (1)	-
ROCHESTER W6 P04 (10)	20.0% (2)	20.0% (2)	30.0% (3)	20.0% (2)	10.0% (1)
ROCHESTER W6 P06 (5)	-	20.0% (1)	20.0% (1)	60.0% (3)	-
ROCHESTER W6 P07 (5)	-	=	80.0% (4)	20.0% (1)	-
ROCHESTER W6 P08 (2)	÷	100.0% (2)	=	-	÷
STEWARTVILLE (2)	-	50.0% (1)	÷	-	50.0% (1)
Unknown (1)	÷	100.0% (1)	=	-	÷
WOODBURY P-04 (1)	100.0% (1)	=	=	=	-

AGE RANGE					280 REIGSTERED VOTERS
	A	В	С	D	E
18-29 (22)	-	31.8% (7)	40.9% (9)	18.2% (4)	9.1% (2)
30-39 (68)	8.8% (6)	30.9% (21)	36.8% (25)	19.1% (13)	4.4% (3)
40-49 (60)	10.0% (6)	26.7% (16)	26.7% (16)	33.3% (20)	3.3% (2)
50-59 (56)	7.1% (4)	35.7% (20)	30.4% (17)	23.2% (13)	3.6% (2)
60-69 (48)	12.5% (6)	33.3% (16)	20.8% (10)	27.1% (13)	6.3% (3)
70-79 (21)	-	33.3% (7)	23.8% (5)	38.1% (8)	4.8% (1)
80-89 (4)	-	50.0% (2)	-	50.0% (2)	-
unknown (1)	-	100.0% (1)	-	-	-

VOTERS GENDER	280 REIGSTERED VOTERS				
	A	В	C	D	E
F (131)	6.1% (8)	30.5% (40)	32.8% (43)	24.4% (32)	6.1% (8)
M (148)	9.5% (14)	33.1% (49)	26.4% (39)	27.7% (41)	3.4% (5)
Unknown (1)	-	100.0% (1)	-	-	-

POLICY OVERVIEW ADDED, APR 09, 2019 ENDED, JUN 15, 2019

How satisfied are	you with the city	y of Rochester	government?
-------------------	-------------------	----------------	-------------

A Very satisfied B Satisfied C Neither satisfied nor dissatisfied D Dissatisfied E Very dissatisfied Anonymous user's Opinion Responded B Dissatisfied Quit worring about bike lanes till you figure out how to tax the shit out of the bike riders and bike groups like you do cars Anonymous user's Opinion Responded A Very dissatisfied I was born and raised here in Rochester and have lived almost my entire life here. I couldn't be more sickened by how our local government has continued to waste our tax payer's money year after year. From everything to allowing some of the worst street and highway planning and management I have ever seen from a city our size (ie, West Circle Drive, 2nd St NW, stoplights at too many intersections/not enough underpasses/overpasses), to the complete waste of tax payer's money on the horrible mismanagement of The Mayo Civic Center (Little to no focus on booking national recording artists benefiting us tax payers & Constantly hemorrhaging money annually all while continuing to keep the same management that causes the MCC to fail, etc.), not fixing the affordable housing crisis in our city and not stopping the pricing monopoly for our cable costs... just to name a few. Anonymous user's Opinion Responded B Dissatisfied The city is still giving too much money to the old boys' club in terms of DMC and tax breaks for new construction. The purpose of government is to do what's best for all people, not just the richest people. Responded B Dissatisfied The focus needs to be more on the tangible realities of public safety, law enforcement, crime prevention, street maintenance, snow removal, etc, rather than on the feelings of residents. Anonymous user's Opinion Responded B Dissatisfied Seems that the new Mayor wants changes. Is overwhelming to see a perfect family city disproportionately grow not considering the lack of room at schools. The focus on DMC has created a careless monster, less safety, less schools space, less family friendly, no fine arts, a tax hog Responded B Dissatisfied Anonymous user's Opinion City council caters to those with money and above average income Anonymous user's Opinion Responded B Dissatisfied We have not received any feedback when we have asked questions of our Second Ward Councilman. We have been very upset about permits for elite apartments and condominiums! What about Anonymous user's Opinion Responded C Neither satisfied nor dissatisfied The daily employees are great, it's those making the decisions that think Mayo Clinic is what matters rather than those they displace by building luxury apartments, approve yet another bar opening but don't try to bring in family focused activities Responded E Very satisfied Anonymous user's Opinion I think the new leadership is poised to be great all around. A key will be making the best long-term decisions, specifically for the tax base, and not necessarily the first to come Anonymous user's Oninion Responded A Very dissatisfied The tap water is white. It ruined my hair and dried it out so bad and made it look red! Disgusting. They gave me a ticket in front of my own house that I had just bought and new car. The license plate was even registered to that address. They don't give you much of a window of time and it is not easy to figure out. Also the Christian-value conservative staff member at the passport office told me I couldn't wear a tank top in my passport photo! Um, what? That's factually wrong and if you ever try and force your values on me again and exert it in a federal manner, I'll sue the hell out of you. Anonymous user's Opinion Responded B Dissatisfied Hotels, apartments and some commercial buildings, those are the improvements we see in this city, nothing else. We are lacking of good shops, nicer restaurants, performing arts... Anonymous user's Opinion Responded B Dissatisfied Good old boys club. Responded C Neither satisfied nor dissatisfied Anonymous user's Opinion WIII you ever post a summary of the results of all these questions and how you're using the answers? Thanks. Anonymous user's Opinion Responded D Satisfied Looks like we have great leaders, but the overwhelming focus on DMC versus family friendly entertainment and fine arts is unfortunate. Responded B Dissatisfied I see some good stuff considered by city council but still believe they are out of touch with the residents when it comes to over taxing us and spending revenue on things we don't need and most of us oppose. Property taxes are a serious burden here that makes many of us hypersensitive when it comes to spending money on things we neither want nor need. Responded D Satisfied Overall satisfied, but disappointed that 125 Alive doesn't get the funding to finish the building. Responded A Very dissatisfied I am dismayed at the lack of responsible use of tax money at the city level. There seems to be a focus on extravagance items such as the Chateau Theatre and bike lanes on every street instead of on

basic infrastructure upkeep and improvements. For example, neighborhood parks could surely be vastly improved with the \$6 million that was spent on acquiring the Chateau Theater. The city parks are

Anonymous user's Opinion

Responded B Dissatisfied

I think our leaders have much potential, but it feels like DMC and Mayo Clinic influence many (most) ideas and decisions. I'd rather see more focus on families, the arts and what the people of Rochester want rather than what Mayo Clinic wants.

Anonymous user's Opinion

Responded D Satisfied

Especially the new makeup of the city council and mayor's office.

Anonymous user's Opinion

Responded B Dissatisfied

No one gets a 2% raise, why should my taxes and your salary.

Anonymous user's Opinion

Responded B Dissatisfied

20 minute 911 response time when a man was stabbed in front of my home

Anonymous user's Opinion

Responded E Very satisfied

I find the government employees intelligent, helpful, and nice. I feel the leaders are trying to keep Rochester a great place to live and improve it. There is room for improvement to make sure people at every income level share in the developments going forward, and not just those on the upper end.